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| migE |MAE| &5 | KE | BAH) k= migg  |MAE| £S5 | BE | @HAH) &5
4 i3 2 625| 207,900 it i3 2 749| 772,200
B k3 3 577 110,000 Rt i3 2 777| 796,400
Es k3 3 720] 309,100 s i3 2 791| 805,200
4 i3 3 759| 271,700 it i3 2 794| 807,400
B k3 4 474| 144,100 Rt i3 2 795| 814,000
EES k3 4 689] 176,000 s i3 2 797| 816,200
4 i3 4 798| 328,900 it i3 2 810| 817,300
E k3 5 439| 93,500 R i3 2 878 865,700
4 k3 5 476| 112,200
EE It 5 650| 146,300
L4 i 6 680| 168,300 @F14
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34 i 7 700| 178,200 miEd  |MAE| £S5 | BRE | @HEAH) i&Z
EE =8 6 758| 210,100 e It 1 371 229,900
A i3 8 803| 188,100 4 i3 12 410| 110,000
4 k3 11 777 250,800 o4 i3 13 666 407,000 |$EIR4S
4 It 15 461) 413,600 [$TIRAE
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